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SN SEMD

XMNZH: =A

o Tt (==}
i/\ =A

Ol BAHSAIARA (e m el
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
01 =LHoi| 4,800 4,437 363
O S¢H=s Z=X% 20,000& » 3" = 403l 2,400
O W= SHHEXE 20,000& * 3¥ » 203l 1,200
O IS MeAMEXNEAY AEe &4 80,000& * 3 » 5 1,200
206 M=l 18,000 18,000 0
01 =4l 18,000 18,000 0
O SASZMEH 2 8,000& * 2,250kg 18,000
301 LptBazg 16,800 19,329 N2,529
10 HAIAMHIEA S 16,800 19,329 A2,529
O SaEAUe #A 80,000&  20% = 23| 3,200
O st3dUz A 80,000& * 10 * 33l 2,400
O d==sIt 4K A 80,000& * 359 * 13l 2,800
0 St II=usEA 80,000& * 359 * 13l 2,800
[ gtelo & HAIEA 80,000& * 208 * 13l 1,600
[ ZAZHA0IE SIHUSEA 80,000& * 359 * 13l 2,800
O Z¢E=XMel sIt us 80,000& » 5% * 32 1,200
307 2IZ2tol & 47,200 7,200 40,000
02 CltFAEX 40,000 0 40,000
[ &te SEHIXA 5,000&* 6,0005 = 50/100 15,000
O S|AsIt 6 20 X3 20,000& * 2,500kg * 50/100 25,000
05 CIZtRIEZ 7,200 7,200 0
O RIss8 BEs429 600,000& * 1A * 128 7,200
402 SIERHE0IHE 422,700 277,000 145,700
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[
0
e
0

A -H2A(EAH) - MY - BES Ofl &F 2K (%ggi; Hlns2t

01 QIZtRp=EExX 422,700 277,000 145,700
[ Ys8H XEAY 50,000,000 * 141 = 50/100 25,000
O HAs8 AFXNIAY 24,0002 * 2,000F * 50/100 24,000
[ BtRAUAIXS OINEH 2,000,000,000® * 2.5/100 50,000
O SIUNSEFHALE &3 60,0002 * 1,000F = 50/100 30,000
O AM2EZ2 SXNUXHA 300,000 * 150ha * 40/100 18,000
O AZHE HFASELIIXNA 1,300,0002 = 30CH » 50/100 19,500
O SMEHH2e UK 16,000,000 = 3CH * 50/100 24,000
[0 E611E 2 55,000,0002 = 1CH = 50/100 27,500
O =2x2& sYUXa(s2) 2,5009! * 50,000 * 50/100 62,500
O 52Xl SUXNA(SH) 2,5002 = 24,000 = 50/100 30,000
0 SM42EXH2SE SENR(SEE) 2,5002! * 50,000 * 50/100 62,500
O &l 2FIIXH 3,000,000& * 6CH * 50/100 9,000
[ steoz4+d2 NI 22,0002 * 3,700F = 50/100 40,700

IIEEYY 129,720 81,935 47,785

101 Q14| 10,000 8,000 2,000

10 JI2AMIZ2AUSES 10,000 8,000 2,000
[0 A0 OlEFHF HERRE 02Y 100,0009 * 2% » 25 5,000
O N=NGHEANS &HZ0HS Ex02Y 100,000& * 2% * 252 5,000

201 Lgr29y 18,320 15,355 2,965

01 AlR22/Hl 10,500 10,000 500
O Let4=gH| 4,500
O IFUYFA HHESQ 5,000& * 3F » 1002 1,500
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SA EEAD
2|

m@: =gl x|
CHelr EMTAAIYRA (e m el
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
02 QUAHBASE X 154,275 122,850 31,425
O JIs2X&Ad 154,275
O suesaa N 82,500& * 1,8709H 154,275
| 107,992
& 13,885
Al 32,398
NH=EaXelAldX& 107,600 50,000 57,600
= 57,100
& 15,150
Al 35,350
402 QI2tXHE01A 107,600 50,000 57,600
= 57,100
& 15,150
Al 35,350
01 QIZERI=2E X 107,600 50,000 57,600
O =02 XAY 107,600
O S HelAld X 107,600,000& * 14! 107,600
= 57,100
= 15,150
Al 35,350
= EM4HSHILR 10,000 10,000 0
& 3,000
Al 7,000




FA:
X XH .
o Tt

ool

SN EY O (BH) - MR - Ba= Aol e =2t

206 Mz Hl 10,000 10,000
& 3,000
Al 7,000

01 MZ 4l 10,000 10,000
O SHIEXAS 10,000
O U= EArHS0HY & 769.23& = 13,0000t2! 10,000
o= 3,000
Al 7,000

OF K| A4 AFOFEH AL 34,700 0
& 10,410
Al 24,290

307 22t0l & 34,700 0
& 10,410
Al 24,290

02 QItFAE X 34,700 0
O SHIEXZAS 34,700
O SO0tXI A AL 10,0002 * 3,470% 34,700
& 10,410
Al 24,290

SSSEHl KNIAL 4,280 4,680
& 1,070
Al 3,210
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0
]
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ool

m

40
ra
o

SER(E) - HRAY - B2

P
2

2A

R

J2H
0l
IS

H

Al

4,280
1,070
3,210

2400

5,000& = 1,070 = 80/100

in

Al

4,280
4,280
4,280
1,070
3,210

A 400

H

Al

16,320
4,080
12,240

A2,880

H

Al

16,320
4,080
12,240

A2,880

30,000& = 6805 = 80/100

H

Al

16,320
16,320
16,320

4,080
12,240

A2,880

bl

H

Al

24,200
7,260
16,940

4,400




BA SEAD
Mmool =X
Ol BAHSAIARA G=EE-E)
SH-EH . O(E) - MBAY - B of Ao S HRS2
307 QIZ2to| A 24,200 19,800 4,400
= 7,260
Al 16,940
02 0I2tZAE X 24,200 19,800 4,400
(] SHIEXAIE 24,200
O #Ase ALY 55,000& * 440% 24,200
= 7,260
Al 16,940
MNEeEEESI|XSA 7,500 7,500 0
& 2,250
Al 5,250
402 QI2tXE0l N 7,500 7,500 0
== 2,250
Al 5,250
01 QIZHXEEX 7,500 7,500 0
[ SHIEXZAIE 7,500
O AtgEgdl A& 15,000,000& * 104 = 50/100 7,500
o= 2,250
Al 5,250
RAIE MADIEE S-S ALS 7,858 44,800 N36,942
& 1,572
Al 6,286




SN EEADY
M3 solol 2XEX
Ol BAHSAIARA G=EE-E)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
402 U2t XHE01H 7,858 44,800 A 36,942
& 1,572
Al 6,286
01 DIREEE 7,858 44,800 36,942
O SHIE XA 7,858
O =AML DJIBtEtE ALY 7,858,000& = 14l 7,858
< 1,572
Al 6,286
g rES A 210,854 180,002 30,852
= 145,594
= 32,630
Al 32,630
206 =4l 210,854 180,002 30,852
= 145,594
< 32,630
Al 32,630
01 THZ 4l 210,854 180,002 30,852
0 302 XA 210,854
O Js¢9y 25224 210,854,000& * 14l 210,854
= 145,594
= 32,630
Al 32,630




FA: It
=H BT
ool SIEY el H )
CERI(BIH) - NIRAY - A S Akl e =
SEHUY e 32,100 17,550 14,550
& 9,630
Al 22,470
206 M=l 32,100 17,550 14,550
& 9,630
Al 22,470
01 THZ 4l 32,100 17,550 14,550
0 SHIEX 32,100
S0t 15,0002 * 2,140% 32,100
& 9,630
Al 22,470
LHEESAl=HI 13,480 16,850 23,370
& 4,044
Al 9,436
301 et 13,480 16,850 23,370
& 4,044
Al 9,436
12 JIet2 4 13,480 16,850 23,370
O SHIE 13,480
O g 1,000& * 13,4805 13,480
= 4,044
Al 9,436




SN EEADY
HH: S0l =X
ol BATSAARA (e e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
A BEZANctY MHEEH(=24])Y| 183,960 95,340 88,620
= 39,963
= 43,199
Al 100,798
301 Et8AZ 183,960 95,340 88,620
= 39,963
= 43,199
Al 100,798
12 JIEIE &S 183,960 95,340 88,620
[ 22X AIS 133,210
O 2~ 2E2ANctY HE BHUHI XA 7,000& = 19,0305 133,210
= 39,963
& 27,974
Al 65,273
(] SHIEXAIE 50,750
O 4 BE2MetY ME 234 A& 7,000 * 7,250% 50,750
& 15,225
Al 35,525
SSHHE 29| 83,700 78,840 4,860
Dl 41,850
= 12,555
Al 29,295




2 S=4
M3 solol 2XEX
Ol BAHSAIARA G=EE-E)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
301 LBEtEAZ 83,700 78,840 4,860
J| 41,850
= 12,555
Al 29,295
12 JIEIEAZ= 83,700 78,840 4,860
[0 JIZ2EXAE 83,700
O 2S¢ 29Hl X 54,000& * 1,5500H A 83,700
J| 41,850
T 12,555
Al 29,295
S8 =g 48,000 38,400 9,600
& 15,360
Al 32,640
301 LEtE A2 48,000 38,400 9,600
= 15,360
Al 32,640
12 JIEIEA= 48,000 38,400 9,600
[0 SHIEXZAIE 48,000
O 39 ¢ 800,000& = 5¥ = 128 48,000
= 15,360
Al 32,640
L= M A ALY 11,700 9,653 2,047




SN EEADY
HH: S0l =X
ol BATSAARA (el de)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
UES20H2AM IS A = 2,600
Al 9,100
307 QIz2t0| A 11,700 9,653 2,047
== 2,600
Al 9,100
02 0I2tZAY X 11,700 9,653 2,047
[ SHIEXZ AL 11,700
O =20 MIMEAS 65,0002 * 200MIE * 90/100 11,700
T 2,600
Al 9,100
SESLEHAHAY 23,400 12,503 10,897
= 5,850
Al 17,550
307 SIZ2t0l& 23,400 12,5083 10,897
== 5,850
Al 17,550
02 0I2tZAYE X 23,400 12,503 10,897
[ SHIEXZAIE 23,400
O E=SREHAEHAMEY 30,000& * 7805 23,400
== 5,850
Al 17,550
SAF AIEX& 8,000 6,400 1,600




SN SEAD
HH: S0l =X
Sl BAFFATY (S5 &)
S HH - S(BH) - HEAY - BE=2 Ofl AF o4 aﬁiﬂgﬁ; HRZ2
FZ A Al TR = 2,400
Al 5,600
402 QI2ER2O0IE 8,000 6,400 1,600
= 2,400
Al 5,600
01 IATREZE 8,000 6,400 1,600
O CHEZA 8,000
O L2 ALTIRAIY 10,000,0002 * 1744 * 80/100 8,000
= 2,400
Al 5,600
o= JITHH KR A (BSTHHI) 10,560 4,950 5,610
= 3,168
Al 7,392
402 QIR O0IF 10,560 4,950 5,610
= 3,168
Al 7,392
01 QIATZEE 10,560 4,950 5,610
O SHEZA 10,560
O 2= JIXH X 1,200,0008 * 11CH * 80/100 10,560
= 3,168
Al 7,392
SEYNS WY X 26,660 25,226 1,434




SN EEADY
HH: S0l =X
ol BATSAARA (el de)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
Ss2HY Ml XA | 13,330
& 3,999
Al 9,331
206 M=l 26,660 25,226 1,434
| 13,330
= 3,999
Al 9,331
01 MZHl 26,660 25,226 1,434
O JIZEXALY 26,660
O SS%¢HE M=l XA 26,660,000& * 14 26,660
| 13,330
= 3,999
Al 9,331
IISEYgHA (s 2EZ2Y) 47,100 48,600 A 1,500
& 14,130
Al 32,970
206 =4l 47,100 48,600 A 1,500
& 14,130
Al 32,970
01 MZHl 47,100 48,600 21,500
O SHIE XA 47,100
O 2229 gy 2 10,000& * 4,7104 47,100




SN SEAD
HH: S0l =X
Sl BAFFATY LRk
S HH - S(BH) - HEAY - BE=2 Ofl AF o4 (ﬁg;ﬁ HRZ2
= 14,130
Al 32,970
TALB MUK 64,000 0 64,000
= 24,000
Al 40,000
402 QI2ERZOIE 64,000 0 64,000
= 24,000
Al 40,000
01 QIAT=EE 64,000 0 64,000
O SHEZA 64,000
O ZAZMAZHIXIR 40,000,000 * 24 + 80/100 64,000
= 24,000
Al 40,000
SYDEYMAY 35,000 0 35,000
= 7,000
Al 28,000
402 QIZERROIA 35,000 0 35,000
= 7,000
Al 28,000
01 QIANT=EE 35,000 0 35,000
O SHISE AR 35,000
O 2YTE VLAY 400,00020 * 1755 * 50/100 35,000




A sH4L
M o =SS
el BAFSAIARA chol &
CERI(BIH) - NIRAY - A S Akl e =
= 7,000
Al 28,000
FSHAM 2AHXA 63,000 63,000
L= 18,900
Al 44,100
402 2I2HX201 A 63,000 63,000
& 18,900
Al 44,100
01 BIZEAI=22 X 63,000 63,000
O SHIEXAY 63,000
O SHAM 3,500& = 36,000% * 50/100 63,000
= 18,900
Al 44,100
= S DN 60,690 60,690
L= 18,207
Al 42,483
402 QI2tXE201H 60,690 60,690
& 18,207
Al 42,483
01 BIZEAI22 X 60,690 60,690
O SHIEX 60,690
O A& 703 * 1,734,0000H * 50/100 60,690




SN EEADY
HH: S0l =X
ol BATSAARA (e e
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
= 18,207
Al 42,483
A0 olg8 =& 126,429 0 126,429
| 73,877
& 15,766
Al 36,786
307 212t01& 126,429 0 126,429
| 73,877
& 15,766
Al 36,786
02 QItFAE X 126,429 0 126,429
O JIZEXZAE 126,429
O 221018 F=FH 126,429,000& » 14 126,429
| 73,877
o= 15,766
Al 36,786
X A2HEESXNEAS 5,600 0 5,600
| 3,200
& 720
Al 1,680
307 2IZtol& 5,600 0 5,600
J| 3,200




!
ol sSXS&A
ESEISEY SEREL
= A CEERI(BIH) - IS A Atol e =32t
307 QIZ2to| A = 720
Al 1,680
02 0QI2tHAE X 5,600 5,600
[ JIZ22XZAIE 5,600
O YAl 22HEE 8,000,000& * 1JHA = 70/100 5,600
J| 3,200
o= 720
Al 1,680
LSS AT JALE 13,680 13,680
= 4,104
Al 9,576
402 QI2EXE20lN 13,680 13,680
= 4,104
Al 9,576
01 QIZE=EX 13,680 13,680
[] EHI2ZAIE 13,680
O sdSAa2x=2X 13,680,000& * 14 13,680
& 4,104
Al 9,576
AL XH = EOLH K& 1,200 1,200
& 360
Al 840




SA S
H: solol 2XEA
CHelr EMTAAIYRA G=EE-E)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
402 U2t XHE01H 1,200 0 1,200
& 360
Al 840
01 22R=Ex 1,200 0 1,200
O SHIE XA 1,200
O Ml XM=& M X 80,000& * 151 1,200
= 360
Al 840
AMSHI® XI#E 9,150 0 9,150
& 2,745
Al 6,405
206 M =4l 9,150 0 9,150
& 2,745
Al 6,405
01 IZHl 9,150 0 9,150
O SHIE XA 9,150
O AMAsHEXEIA 50,000& * 183K 9,150
= 2,745
Al 6,405
LEUF 43,980 0 43,980
& 13,194
Al 30,786




SA sS04
Mmool =X
el BAFSAIARA (el de)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
206 Mz Hl 43,980 0 43,980
& 13,194
Al 30,786
01 MZ 4l 43,980 0 43,980
O SHIEXAS 43,980
O A=EUE 6,000& * 7,330kg 43,980
= 13,194
Al 30,786
gA= 2,500 0 2,500
& 750
Al 1,750
206 M=z Hl 2,500 0 2,500
& 750
Al 1,750
01 M=l 2,500 0 2,500
O SHIEEXZAS 2,500
O g9s 5,000& * 500 2,500
& 750
Al 1,750
SO0 SEHIAMY 14,625 0 14,625
& 4,062
Al 10,563




SN EEADY
M3 solol 2XEX
ol SAFSAATY (sl @)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
307 2I2t01 & 14,625 0 14,625
& 4,062
Al 10,563
02 QItFAE X 14,625 0 14,625
O SHIEXZAS 14,625
O SYSOHRNSESHIMG 25,0003 * 650& * 90/100 14,625
o= 4,062
Al 10,563
ENE=DN S 40,000 0 40,000
= 20,000
& 6,000
Al 14,000
405 KHAHFSHI 40,000 0 40,000
= 20,000
& 6,000
Al 14,000
01 XL =S FHSHI 40,000 0 40,000
O =202 XA 40,000
O ASXHEHE 40,000,000& = 1CH 40,000
= 20,000
& 6,000
Al 14,000




SN EEADY
HH: S0l =X
Ol BAHSAIARA G=EE-E)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
ANSHES KU A 14,400 0 14,400
= 4,320
Al 10,080
402 QI2EXE0lN 14,400 0 14,400
= 4,320
Al 10,080
01 IZX=2BEX 14,400 0 14,400
[ SHIEXZAIE 14,400
O Arg2&2 SAUAA 240,000& = 150044 * 40/100 14,400
o= 4,320
Al 10,080
NS HAM X A 99,360 0 99,360
& 19,872
Al 79,488
402 QI2EXE0lN 99,360 0 99,360
= 19,872
Al 79,488
01 QI2ZtXi2=E=x 99, 360 0 99,360
[] EHIEXZAIE 99, 360
O ZAMZ BEHX A 99,360,000& = 14 99,360
o= 19,872
Al 79,488
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2|

m@: =gl x|
el EAFSAASA (E9l: @)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
ARNAHNE A& EH XA 77,000 0 77,000
& 33,000
Al 44,000
402 QI2tXHE0IA 77,000 0 77,000
& 33,000
Al 44,000
01 BIZEXI=22 X 77,000 0 77,000
0 SHIEXZAS 77,000
O BSHANE 2AEHHIXJ 110,000,000& = 1CH * 70/100 77,000
& 33,000
Al 44,000
UNSEFE AYHH D 2,700 0 2,700
& 810
Al 1,890
402 QI2tXH=E0IA 2,700 0 2,700
= 810
Al 1,890
01 2UARE2EX 2,700 0 2,700
O SHIEXZAS 2,700
O xeEE 28HED 300,000& = 9CH 2,700
& 810
Al 1,890
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